Middlebury
College

Calculus II: Fall 2017

Contact: gmelvin@middlebury.edu

PROBLEMS ON INTEGRATION

x = standard, similar to exam problems. %% = more difficult than exam problems.
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PROBLEMS ON ARC LENGTH AND SURFACE AREA

1. Find the arc length of the graph of f(x) = % + 1z between 2 = 1 and z = 3.
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5 between £ = 2 and z = 4.

2. Find the arc length of the graph of y =
3. Find the arc length of the graph of f(z) = \/75(41: —3) between z = 1 and = = 9.

4. Find the surface area of the surface of revolution (about the z-axis) obtained from f(z) = v/x + 1,
0<z<2.

5. Find the surface area of the surface of revolution (about the z-axis) obtained from f(x) = cos(z),
- <x <L I
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6. Find the surface area of the surface of revolution (about the y-axis) obtained from the graph y =
log(z),2 <z <3.



